SOLITINS

24181 Quiz #3 - September 22, 2015, 10 a.m.
1. Let #(¢) = (¢, 2cost, 2sint), —4 < ¢ < 4. Find the length of the curve.
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2. Let 7(t) = (¢,1%,¢'). Find an cquation for the unit tangent vector T(1).
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24181 Quiz #3 - September 22, 2015, 10 a.m.
1. Let #(t) = {t,2cost,2sint), —4 <t < 4. Find the length of the curve.

2. Let 7(t) = (t,12,e!). Find an equation for the unit tangent vector T'().
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24182 Quiz #3 - September 24, 2015, 11 a.m.
1. The position function of a particle is given by #(f) = (¢2,5¢,12 — 2t). When is the speed a
minimum (Hint: minimize the square)?
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2. Find and sketch the domain of the function f(z,y) = v2¢ + 3+ J/¥..
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24152 Quiz #3 - September 24, 2015, 11 a.m.
1. The position function of a particle is given by 7(#) = (#2,5¢,¢* — 2t). When is the speed a
minimum (Hing: minimize the square)?
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2. Find and sketeh the domain of the function f(z,y) = v2x + 3+ /3.
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24183 Quiz #3 - September 24, 2015, 10 a.m.

1. Let 7(t) = (¢',e*"). Find the velocity, acceleration and speed of a particle with the given position
function. Sketch the path of the particle and draw the velocity and acceleration vectors for ¢ = 0.
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2. Let f(x,y) =y — 222, Sketch and neatly label the level curves for £ =0,1,4.
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